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What North England Looks Like

Quaint
buildings
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What North England Looks Like

Quaint
Weather ____» buildings
sucks, as
usual




Lisbon

/

/
/
!

/
/

;T

ainverness

[l

PN orshavn / )
¢/

T _Bergeny

Y

=

;.' Tmndh
z Ofsters

Lerwick e

\\‘\ \éavle i

~#70slo, /) 7

North Sea I‘.."‘ 1 /"

;DENMARK

(o

g .‘t Inns.rI ck
F

Palermo.

o Tlmigw

4
e *DR d
p OH}”‘{Y%  SWEDEN
S

,__JBuIe =Y
&

alleftea J/

Umea

u

-~

)
A
I

\. _"‘1

?‘.\-\ Antal

'- - Mos
\

7 0rol

N ——j(rasnoda

&

. URKEY>

(

i&(,llf) /\ﬁ? ) ab

¢

ri\_ "'__&

S Ordzhonikidze!

A
Yere\gp \-{

anbul 720nguldaﬁ'jrl B /___‘§>U/\
Ankara—/ ||

L—"1

S



Uh,

Lisbon

/

/

/
/
!

/

;T

ainverness

[l

PN orshavn / )
¢/

T _Bergeny

Y

=

;.' Tmndh
z Ofsters

-
ol *DR J
5 NORWAY, | I
Lerwick ot £ \\ﬂ{{ sl

\\‘\ \éavle i

~#70slo, /) 7

North Sea I‘.."‘ 1 /"

;DENMARK

(o

g .‘t Inns.rI ck
F

Palermo.

o Tlmigw

,__JBuIe =Y
&

alleftea J/

Umea

u

-~

] J
A
7

w [\

>

LN\ [ A e
?\\ Anf:al\mLU'l /'.\"'{? --

7 0rol

N ——j(rasnoda

&

. URKEY>

(

¢

ri\_ "'__&

S Ordzhonikidze!

A
Yere\gp \-{

anbul 720nguldaﬁ'jrl B /___‘§>U/\
Ankara—/ ||

L—"1

S



Now | Live In Slovakia
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Now | Live In Slovakia
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What's Around?
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coffee and cake gqod beer
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What's Around?

Source of good Source of
coffee and cake gqod beer
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What's Around?
Source of good Impossible Source of
coffee and cake to say hame  good beer
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Has a beautiful

Say name My city prime minister
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| Like Beer

| kKnow how to say beer
In more languages than
any other word.

beer / bier /
biere / cerveza /
piwo / pivo /
birra / ['lnso /
E—)L /8=
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| Love To Travel

« SO far, I've visited 32 countries spread over
four continents
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| Hack On Perl 6

. Contributed to the Parrot virtual machine
since 2003

« Worked on Rakudo Perl 6 compiler since
2007

« Currently one of the lead Rakudo developers

« Specialize in object orientation, type system
and multiple dispatch

« Working on Perl 5 <-> Perl 6 integration to
aid migration
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My Talk
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What is this talk about?
. A little background on the Perl 6 project

« How to do a range of everyday tasks using
Perl 6 (all code works today in Rakudo)

- Rakudo release plan — what, when, etc.

oM CHEZ 2 212172

Z2ME O[5S ¢
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What is Perl 6?
- Re-design and update of the Perl language

« Not syntactically backwards compatible

. Many changes, many new features, but aims
to still "feel like Perl"




Solved in Perl 6

Specification

. Perl 6 is not an implementation, but rather a
language specification

. Part of it is a written specification

. Part of it is a "specification test suite”
ALSF
6= T 2tV ECt= A 0q0f CH S AP
o=

Maa Atolct

"ALF0l| CH St test suite"

H —
I —
H —
I —



Solved in Perl 6

Whirlpool Development

. Perl 6 isn't doing the waterfall model, but
instead the "whirlpool”

. Feedback from implementers and users
helps refine the language specification

ARE0| 2o
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Implementations

« Pugs was the first serious implementation,
but sadly is no longer active

. Active implementations today include
Rakudo, smop, Elf and mp6

Elf Z12[31 mp6
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Rakudo Perl
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What is Rakudo?
. Implementation of the Perl 6 specification

. Targets the Parrot Virtual Machine

. Currently the most actively developed Perl 6
iImplementation
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Solved in Perl 6
Rakudo Progress

- Rakudo supports a wide range of features
from the Perl 6 language specification

. All example code | will show today already
runs in Rakudo

26 20 Aol Z[M & B2 7S

A =2 00| EfF oA &
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Problems &
Solutions
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Problem

Say "Hello, world"
"Hello, world"E £ 57|

Solution

say "Hello, world!"

Output




Solved in Perl 6

Problem

Read input from the console
Z Mol 22 wol S0|7|

Solution

print "Enter your name: ";
my Sname = S$*IN.get;
say "SH'd3tAlR $name!";

Output

Enter your name: Jonathan

o133} 4| R Jonathan!
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Problem

Check a value is in a given range
200 X| G &l o A=X| kel stH |

Solution 1

print "Enter a number between 1 and 10: ";
my Snumber = S$*IN.get;
unless 1 <= $number <= 10 { say "Oh no!" }

Output

Enter a number between 1 and 10: 3

Enter a number between 1 and 10: 42
Oh no!
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Problem

Add up a list of numbers
2| AE Q| oA 4t2 5t

Solution

my @nums =1, 5, 7, -2, 3, 9, 11, -6, 14;
say [+] @nums;

Output
e



Solved in Perl 6

Problem

Check if a list is sorted
2| AETFHZEO| &Y =X|of etk &0

Solution

my (@a 1, 1, 2, 3, 5, 8;

my (@b 9, 4, 1, 16, 36, 25;

if [<=] @a { say 'da 1s sorted' }
if [<=] @b { say '@b i1s sorted' }

Output
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Problem

Get a Perl-ish representation of a data structure
HAHZ HOHAZE &E7(517|

Solution

my @a =1, 2, 3;
push @a, { x => 42, y => 100 };
say (@Qa.perl,;

Output

[1, 2, 3, {"y" => 100, "x" => 42}]
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Problem

lterate over a list
2| AEE O|E 8|0l E 57|

Solution

my (@Qcities = <Busan Gyeong-—ju Seoul>;
for @cities —> $city {
say "I've visited $city";

}

Output

I'll visited Busan

I'll visited Gyeong—-ju
I'll wvisited Seoul
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Problem

lterate over the keys and values of a hash
o | 2| 7|2t ol & 2t 2 = O|H 2| 0| E 37|

Solution

my %distances = Busan => 329, Daegu => 236;
for %distances.kv -> $city, Sdistance {
say "Scity is $distance km away";

}
Output

Busan is 329 km away
Daegu is 236 km away
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Problem
Check if any of a list of test scores is a pass

2| A~ E etof| = ololEl & s g HAE S 52 sh=X]0f

i 5t 2ol

Solution

my @a = 75, 47, 90, 22, 80;
my Rb = 61, 77, 94, 82, 60;
my @Qc = 45, 59, 33, 11, 19;

if any(@a) >= 60 { say "Some passes in A" }
if any(@b) >= 60 { say "Some passes in B" }
if any(@c) >= 60 { say "Some passes in C" }

Output

Some passes in A
Some passes in B



Solved in Perl 6

Problem
Check if all of a list of test scores are passes

2| A E otofl 9= 2= ofo|Ho| s HAES S3} 5
=x|of T g ol

Solution

my @a = 75, 47, 90, 22, 80;
my @b = 61, 77, 94, 82, 60;
my @c = 45, 59, 33, 11, 19;

if all(@Qa) >= 60 { say "All passes in A" }
if all (@b) >= 60 { say "All passes in B" }
if all(@c) >= 60 { say "All passes in C" }

Output
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Problem

Check if none of a list of test scores is a pass
2| AE otof| _= 2= ofo|EIO| SHE HIAEE
=1t Zst=X|of Cff oF =tel

Solution

my @a = 75, 47, 90, 22, 80;
my @b = 61, 77, 94, 82, 60;
my @c = 45, 59, 33, 11, 19;

if none(@a) >= 60 { say "No passes in A" }
if none (@b) >= 60 { say "No passes in B" }
if none(QRec) >= 60 { say "No passes in C" }

Output
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Problem

Get a random item from a list
2| AEo|A 2l Z2 = Ool0|H 2|

Solution

my @drinks = <soju beer vodka>;
say '"Tonight I'll drink { @drinks.pick }";

Output (results should vary ;-))




Solved in Perl 6

Problem

Shuffle a list into a random order
J|AEE MESIM =0z A= U

Solution

my Qcompetitors = <Tina Lena Owen Peter>;
my (@order = (@competitors.pick(¥*);
@Qorder>>.say;

Output (results should vary ;-))




Solved in Perl 6

Problem

Write and call a subroutine with parameters
utdio|H 2 MEFRE S 245t o &=517|

Solution

sub greet ($name) {
say "¢H3d3%}lA4| 8 $name!";

}
greet ("Patrick");

Output
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Problem

Write a subroutine taking an array and a hash
23t 514 S QIAIR e MERE 251

— T - 7o
Solution

sub example (@a, %h) {
say (@Qa.elems;
say %h.keys;
}
my @nums = 42, 57, 74,
my Smapping = a => 1, b => 2;
example (@nums, Smapping);

Output

3

ab
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Problem

Write a subroutine that only takes a number
RALES QAXIE L Y M ERE 25

Solution

sub double (Num $n) { 2 * Sn }
say double (21);
say double("oh no I'm not a number");

Output

42
Parameter type check failed; expected Num,

but got Str for $Sn in call to double
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Problem

Use multi-subs to react differently by type
S Efof w2tA SE0| ChE Chs M EFE 214 51|

— T - 71 o

Solution

multi double(Num $n) { 2 * $n }
multi double(Str $s) { $s x 2 }
say double (21);

say double ("boo");

Output

42
booboo
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Problem

Compute factorial (recursively)
AsE ALl MAHH2=E)

Solution

multi fact($n) { $Sn * fact(Sn - 1) }
multi fact (0) { 1}

say fact (1),

say fact (10);

Output

1
3628800



Solved in Perl 6

Problem
Compute factorial (using a meta-operator)
AsS A ttst7| (0 EF A L4HXE ALE51H09)

Solution

sub fact($n) { [*] 1..%n }
say fact (1),
say fact (10);

Output

1
3628800
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Problem

Add a new factorial operator (so 10! works)
MEZE AlSALRE FItst7| (1012t Ard e UL
=)

Solution

sub postfix:<!>(S$n) { [*] 1..$n }
say 1!;
say 10!;

Output

1
3628800
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Problem

Declare a class with attributes and a method
ol E2[ / E(attribute) 2t M| =2EF 71X = Sef A2 M A

Solution

class Product {
has $.name; # Attr + accessor
has $!price; # Attr only
has $.discount is rw;
# Attr + lvalue accessor
method get_price {
return $!price - $!discount;

}
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Problem

Instantiate a class and call a method on it
S AL QA ASIRIHAES| T &

Solution

my S$prod = Product.new (
name => "Beer",
price => 500,
discount => 60

) ;
say Sprod.get_price;

Output
490
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Problem
Get/set attributes through accessors

A M| A (accessor) & AHE2510] Oof| E2| 7 E(attribute) =

Solution

say Sprod.name;

Sprod.discount = 40;
say Sprod.get_price;
Sprod.name = 'Wine';

Output

Beer

460
Cannot assign to readonly wvariable.

=|
=

S/43
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Problem

Call a method on every object in a list
2| AEQ B E olo|Ho HAE &

Solution

my (@products =
Product .new (name => 'Beer', price => 500),
Product .new (name => 'Wine', price => 450),
Product .new (name => 'Vodka', price => 1600);
for @products>>.name>>.uc { .say }

Output

BEER

WINE
VODKA
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Problem

Introspect a class to find its methods
=t 22| L &= dHELD HAES 37

Solution

my @meths = Product.”methods(:local);
for @meths>>.name { .say }

Output

get_price

discount
name
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Problem

Sort an array of objects by result of a method
HAES HAIE 0|25l LENME S| HjHEES MNH

Solution (Example 1)

my (@products =
Product .new (name => 'Beer', price => 500),
Product .new (name => 'Wine', price => 450),
Product .new (name => 'Vodka', price => 1600);
for @products.sort (*.name)>>.name { .say }

Output (Example 1)

Beer

Vodka
Wine
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Problem

Sort an array of objects by result of a method
HAES HAIE 0|25l LENME S| HjHEES MNH

Solution (Example 2)

my (@products =
Product .new (name => 'Beer', price => 500),
Product .new (name => 'Wine', price => 450),
Product .new (name => 'Vodka', price => 1600);
for @products.sort (*.get_price)>>.name { .say }

Output (Example 2)

Wine

Beer
Vodka
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Problem

Find minimum and maximum values from a list
2| AEZHE [ aX|, =L X[ & &rotL 7|

Solution (Example 1)

my @temperatures = -3, 5, 7, 2, -1, -4, O;
say '"Minimum was " ~ (@Qtemperatures.min;
say '"Maximum was " ~ (Qtemperatures.max;

Output (Example 1)

Minimum was -4
Maximum was 7/
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Problem

Find minimum and maximum values from a list
2| AEZHE [ aX|, =L X[ & &rotL 7|

Solution (Example 2)

my (@products =
Product .new (name => 'Beer', price => 500),
Product .new (name => 'Wine', price => 450),
Product .new (name => 'Vodka', price => 1600);

say '"Cheapest: " ~ (@products.min(*.get_price) .name;

say '"Costliest: " ~ (@products.max(*.get_price) .name;

Output (Example 2)

Cheapest: Wine
Costliest: Vodka
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Problem

Paper, Scissor, Stone game
712,812, =2 A &

Solution (Part 1)

class Paper { }
class Scissor { }
class Stone { }

multi win (Paper, Stone) { "Win" }
multi win (Scissor, Paper) { "Win" }
multi win (Stone, Scissor) { "Win" }
multi win(::T, T) { "Draw" }
multi win (Any, Any) { "Lose" }
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Problem

Paper, Scissor, Stone game
7t 82 Al

Solution (Part 2)

say win (Paper, Paper),;
say win (Scissor, Stone);
say win (Stone, Scissor);

Output

Draw

Lose
Win
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So much
hice stuff...
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...put when
will something

be released?




Solved in Perl 6

The Good News About Rakudo
. Very actively developed

. More than one person understands the guts

« S0 far, 20 monthly development releases
have been made

ot Eof st £E2 44
SR o 2 Eks| WS
.St O|ALO| AMM|SH EE 71 X| O|5H E 3=
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Solved in Perl 6

The Problem

« Rakudo needs applications and modules
written for it, to find spec/Rakudo issues

- However, few people will use Rakudo if we
keep on making "development releases”

CLaiReol Aot PeiAlel £ ES 7
f z2ayn 250l R

7
°




Solved in Perl 6

Therefore...

.In Q2 2010, we will make a major, usable,
useful release called Rakudo *

« An implementation of a significant subset of
the Perl 6 language specification

2=

20109 2=7|0ll = EtF EEt= AFSE UL
TEetMolx & EI£§ =t A0|Ct
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Solved in Perl 6
Making Perl 6 Accessible

« Right now, Rakudo is mostly used by those
with some interest in Perl 6 development

« Rakudo * aims to make it more accessible
. It's a little like people visiting a mountain...

H6E O B2 AlES0| HSHAIE 5H
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.

Climb it yourself... - &
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Solved in Perl 6
Climb It Yourself

- Only appealing to a relatively small group of
people

« Risky but, when it works out, rewarding

. This is where the Rakudo compiler is today
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olved in Perl 6
Take a flight...

Haloz 2E7|...




Solved in Perl 6
Take A Flight

. Much easier = many more people can do it

« YOU can enjoy the mountain...but you know
that standing on it would be better still

. This is where Rakudo * is aiming at
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Solved in Perl 6
The Train To The Top

. Very accessible — even to those with a fear
of flying (e.g. early adoption)

. YOU're on the mountain

« But it takes a lot of time and effort to build
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. But we know it won't be for everyone
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Want to help us along
the path to Rakudo *?




Solved in Perl 6

How To Get Involved

« Write modules and applications; report the
bugs / frustrations you encounter

. The spec test suite always needs work

- WWW.perl6.org / irc.freenode.org #perl6
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Questions?
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